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Multiply by powers of ten (missing number)

Name:

5.262 x

= 52.62

3.48 x

10.954 x

5.157 x

= 3480

=109.54

=515.7

3.517 x

=351.7

5.393 x

=53.93

5.652 x

=56.52

1.41 x

5.721 x

=14.1

=57.21

7.321 x

= 7321

Date: Score:
6.484 x = 64.84
2414 x =2414
1.246 X =124.6
10.848 % = 1084.8
4.004 x = 40.04
5.937 % = 593.7
8.278 X = 827.8
5.363 X = 53.63
8.948 X = 89.48
6.803 x = 680.3
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JH j ﬂ é )5 Multiply by powers of ten (missing number)

Name: Date: Score:
5.262 x 10 = 52.62 6.484 x 10 = 64.84
3.48 x 1000 = 3480 2414 x 100 = 2414
10.954 x 10 = 109.54 1.246 x 100 = 124.6
5.157 x 100 = 515.7 10.848 x 100 = 1084.8
3.517 x 100 = 351.7 4.004 x 10 = 40.04
5.393 x 10 = 53.93 5.937 x 100 = 593.7
5.652 x 10 = 56.52 8.278 x 100 = 827.8
1.41 x 10 = 14.1 5.363 x 10 = 53.63
5721 x 10 = 57.21 8.948 x 10 = 89.48
7.321 x 1000 = 7321 6.803 x 100 = 680.3
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